nbly.
ions

« -

| n

=
L
7!
O

“instruct




UULRLLY

Cross  \etal Washer Cup Screw M6
Dowel M12 Washer

Screw set nr 1

Cross Dowel  Cup Washer Screw M6
Screw set nr 2
LN / /N /

Sy 'Metal Washers Carriag
M6 Bolt M6 x 70

Screw set nr 3

N Metal Washers Carriag
Plastic Nuts e SOl MO 35

Screw set nr 4

N
Brass Nuts Carriag Bolt M6 x 35
Screw set nr 5

*real size



oy %

M Sl Ir&ls O NS
e o

Parts List:

1. 2 Upright Posts

2. Hardware

(see previous page)

3. 2 Curved Metal Suport

4, Cross Brace

5. Allen Wrench

6. 2 Feet
7. Flat Head Screwdriver
(not included)

WEW W, l( R Q1) S ]( I'n"a . c.ofl W W 1( L7 Q7 " TIS k L C Qe




Kl 15 N S et =S O NS
e B

Gather:

- 2 Upright Posts
- Cross Brace

- 2 Screw Set B
- Allen Wrench

- Screwdriver

Insert the screw into the second hole
from the bottom.

Place the barrel nut in the cross
brace. Use the screwdriver to line it

up with the hole.

Attach the Upright to
the cross brace by inser-
ting the screw into the
barrel nut.

Tighten with the Allen
Wrench - not too tight.

Repeat on the opposite
side.

WEW W, l( R Q] S ]\' I'n"a . c.ofl WE SNMISW st 1 S k i C Qs




K M S Kolie& S O NS

Gather:

- Feet

- 2 Screw Sets A
- Allen Wrench

- Screwdriver

Place the barrel nut info the hole
near the bottom of the uprighf
post.

Line it up using the screwdriver.
Place the cup washer onto the
screw, followed by the |orge
washer.

Insert the screw ’rhrough the feet
and info the barrel nut.

WEW W, l( R QD) S ]\' I'n"a . c.ofl W W W ]\’ L7 Q7 " TIS k i C Qs




T Do
far .

KemRud M S Kol S O N#'S
o e

Tighten using the Allen Wrench. Not oo tight.

Attach the curved metal support

to the upright post using Set D.
The black knob should be on the

outside.

Gather screws showed
in the picture.

WEW W, l( R Q=R S ]\' I'n"a . c.ofl W W W ]\’ L7 Q7 " TIS k i C Qs




Zg

‘M S et S O N#S

Remove the brass knob from
the loom and set it aside.

Remove the black knob from K
the bolt and replace it with the %
F bolt. =

Do not ﬁghfen - leave a space.

Place the loom onto the
stand.

Locate the brass knob and
bolts (previously taken from
the loom).

Gather parts showed in the
picture.

WEW W, k R Q1) S ]( I'n"a . c.ofl W W W 1( L7 Q7 " TIS kl L C Qi




Zg

N SRS O NS
S, T

Place the bolt into the 2nd
hole from the front of the
loom.

Line up the curved metal

support and atftach the
brass knob.

The bolt on the previous
step may be a lite ﬁght

If necessary, use a light
hammer to fap it in p|oce

Thighten all screws
Now.

WEW W, k R Q1) S ]( I'n"a . c.ofl W W W ]( L7 Q7 " TIS kl L C Qi




The Presto metal feet can
be stored on the cross
brace.

This can be used as place
to store the shuttle.

Adjusf the ong|e of the loom by |oosening the black knob.
The Presto is now ready for use!




, m «‘ WEAVER’S CHOICE
i lh“’l.l"ﬂ

fl HEDDLE
- z
;/3/ ‘ : : ’ A g e
\“\.\.t.‘\,‘\.\\.‘. “ UL
L [hee 11 L
Sy -JL»‘LIT‘-.V-. NN

i
i

N1

1
; ’ il
| (f,“» '
SHinnny
i . | (I"{* 1 '
l »,:‘f;u‘l: fl‘f’ :E 1
HHEHHH N

Wy f—




11

=
-
-~
O
=
_

)

A \




HAVE
YOU
- TRIED
OUR
what about ' SPINNING

WHEELS
2

A wide variety
of v  high
quality models
at suprisingly
affordable
prices.

£ © Find out more at our website and Facebook page!

www.kromski.com www.kromskina.com
W/ BN \ ‘ |




